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Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) in

(2) with

(3) for

(4) by

faff@dd S s o dged e g 8 2
) &

(2) =

3) A

@ 3

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined 1diom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view
fFrafefEd 3 9 -3 e SR 41 &1 781 6 2
(1) S {BA"

(2) =%, Rerd

(3) TEHL PRl

(4) PIC, SH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.
For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

T & o =9 § faredt avg & ST §F &1 WTa e BT 8 Y B IF-I1 PRE Fd 8 2

(1) FUDRD

(2) FHPRD
(3) AU FRF




(4) JHgHPNP

1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬁﬁawmﬂa%:@mm(Asseﬂiot1A]$Wﬁﬁ@ﬂ%ﬁWWW{ReasonR)aEFqﬁ:
iy A - Tobar fagior sifdei T |
PRUIR : G B O &34 & 915 feurfagivor &1 =9 9ed S g |

IRIGd U & ATelP 1, 19 37U 70 fgmedi & T 98l SR &1 9799 Siforu -
(1) ASRRIFITRE AIRR AT TS a3

) A 3RREH 94§, AP R, A T I RS TR ©

(3) AR APTR ITTE

(4) ASTIE. AFTRITS

1[Option ID=45077]
2[Option ID=45078]
3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

eI-1 & 1Y Jel-11 BT A BIfo -

T T I
(=) (Gl
A |3RTT L |
B. |Iepy I (@A
c. |f[deg I |3gey
D. |7 W &=
- fag g fam el # ¥ TEt SR 31 90 B -

(1) A-IV. B-II. C-I. D-II
(2) A-IIL B-III. C-IV. D-1
(3) A-L. B-II. C-III. D-IV
(4) A-IL B-IV. C-III. D-1
1[Option ID=45081]
2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076




Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?
(1) When Ajay returned my shirts ?
(2) When will Ajay returned my shirts ?
(3) When is Ajay return my shirts ?

(4) When did Ajay return my shirts ?

:ﬂﬁﬂwmﬂa%:@WW(ASS&HiOﬂA]%Wﬁ%@H%FﬁWWW{ReasonR)ainﬁ:
By A - TpIRT Wi o1 ar=ard € il gad aufda o1 4RT ¥ Wige R am

HRUIR : 58 Hgldx &l o g g |

JWRIGd BUH & AP &, A G0 70 [dwed] § T Tl IO &1 999 Diford —

(1) AJRREHA GUE IR R, AT TSI AR &

(2) A SRR G G T, Afdr R, A B T oare el §

(3) AGTE. AfPIR TR
(4) AL, APTRITE

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok, "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

Pofafaa d Y Prar gm o T 2 2
(1) HDRId-HUX

(2) THRI - U5

(3) PRI -HY

(4) BIRIT-HIG

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

SlI. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP




El-1 & 1Y Jel-11 DT fHeH DI -

T 1 el 1T
A |Toar 9 U gs Ut 1 |09
B. |foMOd UR o1 o 9 1. [ga+g
C. [Siugd g gl IIL. |uReE
D. |l F1 &I &3 & a5l Al gl o= | IV. [UIRsas
i< fau Tu [ el | ¥ 98! 3TR &1 99 dlfel -

(1) A-IV. B-III. C-II. D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-II. B-I. C-IV, D-III
(4) A-I. B-III. C-II. D-IV
1[Option ID=45093]
2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

SlI. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast, had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast, had a shower. and went to school.

(4) She ate her breakfast, had a shower, and was going for school.
Prufiife & 9 xgu e fafed SR -

(1) FRIRS: FTAACE |

2 JEIS: I HF AT |

@) T FS: ATAATAE |

(4 GG IMAAINE |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

SlI. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

frafafad d g v=5 § -
A P
B. 3MT¥ifarg
C. 3wad
D. IHGR
E. DAl
i feu T [dwegl § ¥ el 3Tk & 9+ DIl :
(1) C.D3RE
(2) B.C3IRE
(3) C.D.E3RA
(@) A.B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi IT

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

=70 O fo g var & fRa-wfer 1 At sxamn 2
(1) IR B GBI

(2) TS TR

(3) AR JYIe SRiE

(4) IFDHT YMHS P 1

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR TG &1 Iam FHHifdd 6 dide diea I gsne 2
(1) 3fydag
() godg
(3) IHdg
(4) Fidg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

Sl. No.13
QBID:15550713
Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A Women
B. Warriors
C. Merchants
D. Shudras
Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only
(3) Aand C only
(4) Donly




Tisud = 9 F RN W us Faifed fw af @ s o 8 il a3 39 W te geayuf wqe s

A Afgarart
B. Oigl
C. IR avf
D.¥x

e few I fadedl A @ FeW 3Ugad ITW H ThT HISAT -

(1) FaaaA
(2) HFTAIRD
(3) HAAA IR C
(4) HadaD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A. Chief of the Army
B. Speaker of the Lok Sabha
C. Chief Justice of India
D. Chief of the Air Force
Choose the correct answer from the options given below :
(1) A.BandD only
(2) AandD only
(3) Aand C only
(4) A.CandD only

FEfEd 0 ¥ 1 1 gidaal & (e YR & Ayafd o1 gl i & 2

A STTUHE
B. AIHIYT 3Hee

C. HRd & J& I

D. 91 I W

i fou U [ el | ¥ el 3R &1 99+ BIoy :
(1) HIAA. B HRD

(2) Haa A fRD

() FaaAARC

(4) FAAA. C HRD

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 29 October 2014.

Choose the correct answer from the options given below :




(1) A.BandD only
(2) AandB only

(3) Aand D only

(4) A.B.Cand D only

W HRA-AEA T F IR Fefifaa s A sy wgt 8 -
A TSI Y 1.41 ARG BIUS © R 3 5 a9 & fopan=aq fovar @moe |

B. U ATST AT, "M 3R Y6 & U6 TR e § |
C.UH.§1.UH.- g U 2 8417 e g gRT Uy foeam mar T |
D. TH.EI.UH. 2 3agaR 2014 DI URH g1 UT |

A BT 717 f@whedl # W WEr 394 F 944 HIav :

(1) HIAA. B IR D
(2) Had A ARB

(3) FIAANRD

(4) HIA A, B, C 3IRD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh i ev”
"keypad pen book bottle” is coded as "gn ty 1u kl"
"computer pen bottle paper” is coded as "cv kl io gh"

Which of the following code is used for "pen"
(1) gh
(2) iu
(3) ¢v
4 io

U faRiy e um o
"book pen mouse computer” P HC B - "er ch iu ev".
"keypad pen book bottle" PIRC % -"gnty w kl"

"computer pen bottle paper" PP T -"evidio gh".

"pen"aiﬁmﬁmﬁgﬂﬁﬁ mﬁﬁ

(1) gh
(2)
(3) cv
(4) 10
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language.

'Attend elass daily good' is written as 95, 24%9. 336, 24*3
"Begin great any matter' is written as 3 & 3. 839, 10*15, 14%$4
"Less error and fire' is written as 10$7, 23%8. 9%14, 24&3

'"Tool better than screw’ is written as 16%22. 5$21. 10%4, 14%22

According to the given code what will be the code for the word Burst' ?
(1) 8%4
(2) 6%2
(3) 8%2
(4) 624

U [y e HE A

'Attend class daily good' B 985, 24%9, 3$6, 24*3 @I ST §
'Begin great any matter’ P 3 & 3. 880, 10%15, 1484 ﬁﬂ?ﬂﬁﬁﬂ%
'Less ervor and fire' DT 10$7. 23%8. 9%14. 24&3 ToRG1 oI &

"Tool better than screw' @1 16%22. 5521, 10*4, 14%22 AT 9§ |

SR AU U F21 & AR sk ‘Burst PTHE FN 8 2
(1) 8%4

(2) 6%2

(3) 8%2

(4) 6%4

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

SlI. No.18
QBID:15550718

If the symbol '+ means '—' and '*' means '/ and vice versa then, what would be the value of following equation ?

4*2/4-2+3
1) 7
(2) 3
3) -8
(4) 10

ofe Tog + &1 3f — § 3R+ 1 3f v § 3R 5T faudia ot =g © O FRefafa oo sram s s 2

4*2/4-2+3
1) 7

(2) 3

3) -8

4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719




If V plays first. which one of the following must be true ?

A. T perform sixth.
B. X perform third.
C. Z perform seventh.
D. T perform immediately after Y.
E. W perform immediately after X.
(1) C and E are correct.
(2) DandE
(3) A and B are correct
(4) C and D are correct

gfe v gad gl UK odl ¢ df FafafEd d 9 o1H-91 fdhed I@ g 2
A T4 HH WU S8 |

B. X dIER opH IR Ul &dr g |

C. Z 9Tdd % IR WEfd &a1 g |
D.Y® AR TG ad g |
E X& qiaag Wi adig |

== fGu TN fadhedl § ¥ UEl OTR &1 99 BTl -
(1) cARETS?

(2 D3IRE

() ARBIEIE

) c3ARDIEIE

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana is moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 TTil o & a1g, SIRTEAT Glig gol iR 2 bl Icl | 39 a1e a8 a1 gol 3R 10 G Fal | 3 3 SRTEHAT SR QR i 9
TG T | SIRTYAT A 3= A fbg = 4 YR ot ot 2

(1) IR
(2) e
(3) 4
(4) gfgyg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways. a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?
(1) 200
(2) 250
(3) 350
(4) 450

7 Ui Ud 5 Afgansi 8 9 ¢ gewia 9ifa o1 99 foa veR 9 fovar &1 9@ 3. oy 4 4oy ud 2 aigand wnfae i o




(1) 200
(2) 250
(3) 350
(4) 450
1[Option ID=45053]
2[Option ID=45054]

3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4
(2) 1:2
(3) 41
(4) 2:1

U TP SR U 71idl 1 301 Ud e 997 € | <1 7iidt & o1 &1 e &1 Jd1s o S=0Td a1 g »

(1) 1:4
(2) 1:2
3) 41
(4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it. become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years
(4) 45 years

s YRR Fhqls saIs B ax U 15 81 U GAH1 81 Sl & | b= aul § U8 3118 11 81 wirift 2

(1) 1539
2 3pa¥
3) 40Tt
4) 4599

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What 1s the probability of getting a sum 9 from two throws of a dice ?

fordt U &1 Sl aR thep T IINT 9 Wi -1 &I Iifdiehdt fd-it 8 2
1
(1) o

(2) i
4
3) !
9




(4) :
6

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25
QBID:15550725

If the equation 2x* +3x+ p =0 has equal roots. then the value of p is
(1) 7/8
(2) 1/8
(3) 8/9
(4) 9/8

g THIBRUN 2.2 + 3+ p =0 B GHHE A ©. dl p B I (=1 g 2

(1) 7/8
(2) 1/8
(3) 8/9
(4) 9/8
1[Option ID=45069]
2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:171504831

Consistency of the rainfall at a station can be tested by using :
(1) Probability analysis

(2) Mass curve

(3) Double mass curve

(4) Hydrograph

fFrafeRad # 9 fowe! Suai &3 9 (1Y) St Fadal ST TRI&Ul {61 S 9odl 6 2

(1) YIS dr faerso
(2) Iggia®

3) G gt aw
(4) SR

1[Option ID=45401]
2[Option ID=45402]
3[Option ID=45403]
4[Option ID=45404]

Sl. No.27
QBID:171504832

Soil erosion caused by the impact of raindrops is called :

(1) Splash erosion

(2) Sheet erosion

(3) Rill erosion

(4) Gulley erosion

aul T & YUTd & SR G 9Td Hal SRS DI Bl ol 6
(1) TP 3{URa

(2) Ud 3{Uiad

(3) &% Huad

(4) 3fTEIAD] AIIG

1[Option ID=45445]
2[Option ID=45446]
3[Option ID=45447]
4[Option ID=45448]

Sl. No.28
QBID:171504833

The Universal Soil Loss Equation does not include :




(1) Soil erodibility factor
(2) Rainfall erosivity factor
(3) Infiltration factor

(4) Topographic factor

e Ta] &ffd g0 § 1= |iiferd 98] gidl @ 2
(1) HaT HREA A PRSP

(2) gy UG PRD

(3) 3T PRS

(4) WPIID DRD

1[Option ID=45489]
2[Option ID=45490]
3[Option ID=45491]
4[Option ID=45492]

Sl. No.29
QBID:171504834

Which of the following is a mechanical measure for soil erosion control :
(1) Strip cropping

(2) Contour bunding

(3) Contour cropping

(4) Mulching

frafafEd & 9 &1 ga1 siRe g &1 s gifis A § 2

(1) TgleR ©dl
(2) gy 3@ g4
(3) JHI= @ ST
() Hed @91

1[Option ID=45533]
2[Option ID=45534]
3[Option ID=45535]
4[Option ID=45536]

Sl. No.30
QBID:171504835

Inward sloping bench terraces are generally made i hilly areas having :
(1) High rainfall

(2) Low rainfall

(3) Less soil depth

(4) Less vegetation
Sl e 69 dfa®Ty QR ¥ 4 G UgTS! &l H gidl &, o 8

) F=aef

@ Fgaf

(3) I D HH TG
(4) &Y gIHid

1[Option ID=45577]
2[Option ID=45578]
3[Option ID=45579]
4[Option ID=45580]

Sl. No.31
QBID:171504836

The level bench terraces with 3.5 m width and 1:1 riser slope are constructed on a land having 30% slope. The vertical interval for the
bench terraces will be

(1) 1.0m

(2) 1.5m

3) 2.0m

(4) 2.5m




30 H=Td ga aral YfH OR 3.5 Hiex 915Ts 31 Wk 99 afd@1sil iR 1:1 &1 §¢ aIet gaH @1 A [y Srar g | 9 o9 afgasrsi
1 IeaTYR RIS §I:

(1) 1.0HRR

(2) 150

(3 20¥R

@) 250eR

1[Option ID=45621]
2[Option ID=45622]
3[Option ID=45623]
4[Option ID=45624]

Sl. No.32
QBID:171504837

The ratio of lake-cvaporation to pan-evaporation is called :

(1) Lake coefficient
(2) Evaporation coefficient

(3) Pan coefficient
(4) None of the above

T3 AT @ a1 3 Sid-arsa &1 S0Td 1 HEard ¢ 2
(1) i Uiy

(2) AT OTS

(3) U OIS

(4) IR E I BlS To!

1[Option ID=45665]
2[Option ID=45666]
3[Option ID=45667]
4[Option ID=45668]

Sl. No.33
QBID:171504838

The type of soil with very low detachability but high transportability is :
(1) Clay soil

(2) Sandy soil

(3) Loamy soil

(4) Sandy-loam soil

3ifa forg faaeraa, fq S= uRkae-aar areh a1 &1 ToR &
() el fg

) S el

(3) gHCI Tl

(4) §US-GHT el

1[Option ID=45693]
2[Option ID=45694]
3[Option ID=45695]
4[Option ID=45696]

Sl. No.34
QBID:171504839

The hydraulic jump in a chute spillways is created at its :

(1) Base

(2) Inlet section
(3) Mid section
(4) Outlet section

U Haftre! & sifia 9rf & 39 59 IR 9o Sfd s s g 2
(1) YR
(2) 3T ST




(3) T SIHE
@) frfg suE

1[Option ID=45697]
2[Option ID=45698]
3[Option ID=45699]
4[Option ID=45700]

Sl. No.35
QBID:1715048310

Thickness of the apron of a drop structure is designed on the basis of :
(1) Velocity of flow over it

(2) Uplift pressure on it

(3) Hydraulic jump

(4) None of the above

U fdig T=1 & Uy i HieTs Fafafad 3 9 g siurR R Hidp gidi 8 2
(1) THP YR YaTg B a1

(2) SRS IR I3 &

(3) elig wfd

(4) IWRiad § § TG el

1[Option ID=45405]
2[Option ID=45406]
3[Option ID=45407]
4[Option ID=45408]

Sl. No.36
QBID:1715048311

The line joining the points of equal rainfall depth is called :

(1) Isochrone
(2) Contour
(3) Isohyet
(4) Isobar

AT 6 au & g 3il 31 S arelt 31 31 Pl ol &

(1) gHGI @l
(2) A= 3@l
(3) JgHay @l
(4) FuErE @l

1[Option ID=45409]
2[Option ID=45410]
3[Option ID=45411]
4[Option ID=45412]

Sl. No.37
QBID:1715048312

Conversion of a 4-hour unit hydrograph to a 2-hour unit hydrograph can be done by :
(1) Superposition method

(2) Distribution method
(3) S-curve method
(4) Rational method

Frofafad 3 T foud gRI IS 4-05¢ & SP1E STaRE BT UD 2-4¢ & S5 Olag § =UiaRuT [dar o 9adl § 2
(1) RO ffe

(2) faarur fafe

(3) s.ge faiy

(9) Faed fafd

1[Option ID=45413]
2[Option ID=45414]
3[Option ID=45415]
4[Option ID=45416]




Sl. No.38
QBID:1715048313

The intensity of rainfall excess over the entire watershed for a 4-hour unit hydrograph is :
(1) 1.0emh

(2) 0.5 emh

(3) 4.0 cvh

(4) 025 ecm'h

4.9¢ F gPIs ARG P (A0 IR G1eS (Td 9HR) R fafvad anl St digar gidi &:
(1) 1.5emh

(2) 0.5 emvh

(3) 4.0 cm’h
(4) 0.25 cm’h

1[Option ID=45417]
2[Option ID=45418]
3[Option ID=45419]
4[Option ID=45420]

Sl. No.39
QBID:1715048314

The probability of ocecurrence of a hydrologic event with 5 year return period at least once in 2 years is :
(1) 0.20

(2) 0.36

(3) 0.64

(4) 0.80

&1 Y ¥ a8 U dR 5 99 & YANTHA S & |14 U Jadgli-e URbe] &l Uiidd o

(1) 0.20

(2) 0.36

(3) 0.64
(4) 0.80

1[Option ID=45421]
2[Option ID=45422]
3[Option ID=45423]
4[Option ID=45424]

Sl. No.40
QBID:1715048315

A cavity well has :

(1) No strainer

(2) Brass strainer

(3) Bamboo strainer
(4) None of the above

U Pleda oy Fglare:
(1) PHIS It T8l
(2) Tiqd &l Ta!
) TP B
(4) IREIH Y DS T8l

1[Option ID=45425]
2[Option ID=45426]
3[Option ID=45427]
4[Option ID=45428]

Sl. No.41
QBID:1715048316

For the hydraulic drop of 6m in a gully. the appropriate soil conservation structure will be :
(1) Drop spillway

(2) Drop inlet spillway

(3) Chute spillway

(4) Grassed waterway

U ATl T 6 HieI 1 ofetid Urd & et Ffrd a1 SR&01 ST gii:




() grqg 3iferag ARt

(2) Uig iqety sifirea art
(3) yaftreT 3ifiwra Anf
(4) 9 37 ol /At

1[Option ID=45429]
2[Option ID=45430]
3[Option ID=45431]
4[Option ID=45432]

Sl. No.42
QBID:1715048317

The intensity of drizzling rain is generally :
(1) Lessthan 1 em/h

(2) Less than 1 mm'h

(3) Less than 10cm/h

(4) More than 2 mm/h

BER-aY 1 clisid] S Bldl o

(1) 1emh I HH

2 1 mmhIHY
(3) 10 emh T HH
(4) 2 mm/nh ¥ HH

1[Option ID=45433]
2[Option ID=45434]
3[Option ID=45435]
4[Option ID=45436]

Sl. No.43
QBID:1715048318

The specific capacity of a tube well 1s the ratio of ifs :
(1) Discharge to draw-down

(2) Discharge to radius of influence

(3) Discharge to well radius

(4) Discharge to velocity of flow

TS SEda @1 [y emar Fafafe & 9 39 &9 srua T eidt g 2
) = By BT R fFHe

() UG &I Fa & SR [aoi

(3) FU B! F= Bt R fage

(4) YaE & AT B! 3R fage

1[Option ID=45437]
2[Option ID=45438]
3[Option ID=45439]
4[Option ID=45440]

Sl. No.44
QBID:1715048319

A triangular shaped 4-h unit hydrograph for 360 hectare watershed has time base of 20h. The peak runoff rate for this watershed from 2
cm effective rainfall will be :

(1) 1.0m%s

(2) 2.0ms

(3) 24m¥s

(4) 4.8m3/s

360 YACTR dldl AIEWS b (A1U U BADIUN NPl & 4 °©S b gPIs TARE DI FHY YR 20 el g | 2 Yediex gyl avi 9 59
qTeS B RREY ®H d18 &3 (37 316 ¥2) g1k

(1) 1.0mYs

(2) 2.0m¥s

(3) 24m¥s

(4)




4.8 m3/s

1[Option ID=45441]
2[Option ID=45442]
3[Option ID=45443]
4[Option ID=45444]

Sl. No.45
QBID:1715048320

Drainage coefficient for an area is the depth of water drained from it in :
(1) One hour

(2) One day

(3) One week

(4) One month

U &7 P 3udle Uiie Hafeiad o 3 38 fbva- 999 | Mt S ared 9l &1 7Tg-d1 & (AU gl g 2
(1) T °el
) U@ o

(3) U Huile
(4) UP Hig

1[Option ID=45449]
2[Option ID=45450]
3[Option ID=45451]
4[Option ID=45452]

Sl. No.46
QBID:1715048321

If the speed of a centrifugal pump is doubled. the discharge will be :
(1) the same

(2) doubled

(3) half

(4) increase by 20%

a1 TS HUdg! 9 &1 A G B &l Wl ¢ ol (a8 ghT:
(1) Ydad ¥HH
2 Tl

(3) HTHT
(4) 20 9fo=d $137E

1[Option ID=45453]
2[Option ID=45454]
3[Option ID=45455]
4[Option ID=45456]

Sl. No.47
QBID:1715048322

Hydraulic radius of a stream channel is the ratio of :
(1) Cross sectional area to depth of flow

(2) Cross sectional area to wetted perimeter

(3) Depth of flow to perimeter

(4) Velocity of flow to depth

U UaIE o-d (VoI 1 Jarg e Fafafad 3 9 feae s g g 2
(1) SR PIC &F Y aTE i T6-1dl Dl 3R

(2) IR BIE &7 T 3fgd uRag H1 3R

(3) WATE & 8l I URHEY P 3R

(4) Yarg & o7 9§ Tedl & 3R

1[Option ID=45457]
2[Option ID=45458]
3[Option ID=45459]
4[Option ID=45460]

Sl. No.48




QBID:1715048323
The uniform material for gravel packing in a well is the one for which the uniformity coefficient is :

(1) More than 5

(2) 5

3) 3

(4) less than or equal to 2.0

TS $U 1 Uad Ui & (oY U GHH Al a8 ©. 578! U GHHd Ui gidl 6
) 59 e

(2) 5
3) 3

4) 2.0YFHH g A

1[Option ID=45461]
2[Option ID=45462]
3[Option ID=45463]
4[Option ID=45464]

Sl. No.49
QBID:1715048324

A 100 ha catchment area has runoff coefficient of 0.40 and time of concentration of 1 hour. A storm of 4.5 emv/h intensity and 60 minute
duration will create the peak discharge rate of :
(1) 1m’/s
(2) 5m’s
(3) 45 em/h
(4 75m’s
TP 100 GFIR AT STTIU &3 BT 0.40 BT &18 T0N® 3R 1 9 BT AH-50 THA§ | 4.5 em/h Tl 3R 60 e B @iy aren
a [ L
qor Fefafad # 9 RreR wE 3 fia-! I agei @R Iad om 2

M) 1m’s
(2 5m’s
(3) 45 em'h
(4) 75m’/s

1[Option ID=45465]
2[Option ID=45466]
3[Option ID=45467]
4[Option ID=45468]

Sl. No.50
QBID:1715048325

The box-inlet type drop spillways are recommended for the areas where :
(1) Short crest length is required

(2) Downstream channel 1s wide
(3) Water from reservoir is to be removed
(4) Along crest length is required on narrow channel

Siag-3iqTiH YHR & U1 siftrers 0rf 5 &7 & fou orifid fasy omd €. wist
(1) oY a1 GaTg RGP © |

2 e YR ST AAa IS¢ |

(3) ST § O Bl G oIl § |

(4) T o0 W US oY Q@ &1 Gag AT T & |

1[Option ID=45469]
2[Option ID=45470]
3[Option ID=45471]
4[Option ID=45472]

Sl. No.51
QBID:1715048326

A hydraulic structure having a life of 25 years is designed for an extreme event of 100 years return period. The risk of failure of this
structure is :
(1) 12.2%

(2) 222 %




(3) 322%
(4) 362 %

100 ¥ T YANTH 3faf¥l BT U =H "e & g 25 ¥ & Site Sl drell U siciiy §ee1 iy 8 | 59 S 3t flabad o1
ey &

(1) 122 ufaerd

2 222 Ufqwd

(3) 322 ufawE

(4) 362 Ufqwd

1[Option ID=45473]
2[Option ID=45474]
3[Option ID=45475]
4[Option ID=45476]

Sl. No.52
QBID:1715048327

Hooghoudt’s formula for tile spacing in sub-surface drainage is based on :
(1) Manning’s equation

(2) Darcy’s equation

(3) Chezy’s equation

(4) Newton's equation

SR HYATE H 215d & Siawd &1 gilige & 94 Hafafed & 9 fog o= enuiid 8 2

() [T H TEER
(2) SRl 1 GHIEHRI
(3) DGl BT FHIBI]
(4) Y BT FHIDRI

1[Option ID=45477]
2[Option ID=45478]
3[Option ID=45479]
4[Option ID=45480]

Sl. No.53
QBID:1715048328

Intrinsic permeability of soil has the dimensions of :
1) L1t

(2) L

(3) 17

(4) 112

el ot SfiaR IRar § fha= &1 famn giar g 2
(1) L1t

(2) L

(3 L?

() LT

1[Option ID=45481]
2[Option ID=45482]
3[Option ID=45483]
4[Option ID=45484]

Sl. No.54
QBID:1715048329

Rating curve is a graphical representation between :

(1) Runoff rate and time
(2) Rainfall intensity and time

(3) Discharge and stage

(4) Rainfall depth and time

e g FafaRea o 9 fous dF smodl e eare 2
(1) WEA 3P ¥e) IR Ty




) gyi 3 digar sik 97
3) faoe 3R =0T (W)

(4) gui @I g1 3R Y

1[Option ID=45485]
2[Option ID=45486]
3[Option ID=45487]
4[Option ID=45488]

Sl. No.55
QBID:1715048330

A Lysimeter is used to measure :
(1) Evaporation

(2) Evapo-transpiration

(3) Infiltration

(4) Streamtlow

T fereaard! i farde 719 & e vgaa [ear ol g 2
(1) arsH

(2) GI-aTEo

(3) 3fade

(4) YRTPHIHAE

1[Option ID=45493]
2[Option ID=45494]
3[Option ID=45495]
4[Option ID=45496]

Sl. No.56
QBID:1715048331

Which of the following is a biological measure of soil and water conservation :
(1) Contour bunding

(2) Terracing

(3) Mulching

(4) Graded bunding

el 3R §d WU B FEaiad I 9 S U olfds B9 § 2

(1) FHT= ¥l g

) afg@HTeHRo

(3) Hed g1

4) gaford geq

1[Option ID=45497]
2[Option ID=45498]
3[Option ID=45499]
4[Option ID=45500]

Sl. No.57
QBID:1715048332

Which of the following 1s not a temporary structure for the control of gully erosion :
(1) Drop spillway

(2) Loose rock dam

(3) Woven wire dam

(4) Brushwood dam

I & 3Re & v & foru Fafafed & @ o te sl e adie o
() g7q siferera arf

) T T ey

(3) IR Y

(4) FTS-SITd Sy

1[Option ID=45501]
2[Option ID=45502]




3[Option ID=45503]
4[Option ID=45504]

Sl. No.58
QBID:1715048333

Vegetative waterways are generally designed for the maximum expected runoff with a return period of :
(1) 5 years

(2) 10 years

(3) 20 years

(4) 25 years

fde AfETa JIT &1 ArEEd: ! Tan= afy & o enféd ifteas are & fou By o e g 2

) sqy
@ 1099
) 2099
4 2574

1[Option ID=45505]
2[Option ID=45506]
3[Option ID=45507]
4[Option ID=45508]

SlI. No.59
QBID:1715048334

Which of the following 1s a positive displacement pump :
(1) Centrifugal pump

(2) Rotary pump

(3) Propeller pump

(4) Submersible pump

fFafeRad # 3 191 U Y Tere faRe o § 2

(1) 3l T

(2) Yuff grg R o)

(3) TG 9rg (YR 9im)

4) gerRisa o

1[Option ID=45509]
2[Option ID=45510]
3[Option ID=45511]
4[Option ID=45512]

Sl. No.60
QBID:1715048335

Alkali soils are also called :
(1) Sodic soils

(2) Saline soils

(3) Waterlogged soils

(4) Barren soils

&R &1 D1 I 30 TH J H T g 2
(1) FrEggar

(2) TGUIRI HET

(3) SIEhId Hal

(4) ST

1[Option ID=45513]
2[Option ID=45514]
3[Option ID=45515]
4[Option ID=45516]

Sl. No.61
QBID:1715048336

In a confined aquifer. the sum of specific yield and specific retention is equal to :

(1) Porosity




(2) Transmissivity
(3) Void ratio
(4) Storage coefficient

% IR sayd (Udwy) J ARy Su ok fafiy smifées urfar FafiiEa o 9 fous e

(1) IEAl

(2) ORIl

3) Rigd U
(4) HAESD OIS

1[Option ID=45517]
2[Option ID=45518]
3[Option ID=45519]
4[Option ID=45520]

Sl. No.62
QBID:1715048337

If the diameter of the well in a confined aquifer is doubled. its discharge will :

(1) Increase by 20%

(2) Increase by 10%

(3) Increase by 5%

(4) Remain the same

g1 U UREE STayd (UHHR) § U $U b1 o GIAT R (481 Slld] & dl SHD] [dHeid ghTE:
() 20 gfdwrd ids

@ 10 gfdwd sifts

@) 5 g it

(4) JEaq M

1[Option ID=45521]
2[Option ID=45522]
3[Option ID=45523]
4[Option ID=45524]

Sl. No.63
QBID:1715048338

The water horse power required by a pump to deliver 75 liters per second of water at 10 m height is :
(1) 5HP

(2) 10HP

(3) 15HP

(4) 20HP

TS 9 GRI 10 HIe &1 $Halg W Yid Hbs 75 Wi Ul o o 39 (o8 a1 o 3% ok (a1ex 814 UlaR) SH1avued g 2

(1) SHP
(2) 10 HP
(3) 15HP
(4) 20HP

1[Option ID=45525]
2[Option ID=45526]
3[Option ID=45527]
4[Option ID=45528]

Sl. No.64
QBID:1715048339

For a crop with base period of 120 days. the duty of water is 648 hectare per cumec. The delta for the crop will be :
(1) 60em

(2) 90 em

(3) 160 em

(4) 200 cm

120 T&1 St 3R 3fafd arell U B & (o T 648 SR id TgHP © | 50 PUd Bl Secl ol

(1) 60em

(2) 90 em
(3) 160 em




(4) 200 cm

1[Option ID=45529]
2[Option ID=45530]
3[Option ID=45531]
4[Option ID=45532]

Sl. No.65
QBID:1715048340
The average slope of a land piece is 40%. For making the level bench terraces with 4 meter width and riser slope of 1:2. the depth of cut

will be :
(1) 4m
(2) 3m
(3) 2m
(4) 1m

TP UES F 3Gd A 40 AARA 7 | 4 We DI AISTE 3R 12 F 499E gaH (A3oR wWY) $ 0 R 49 s a9H & g
e I IERIS GII:

(1) 4m
(2) 3m
(3) 2m
(4) 1m

1[Option ID=45537]
2[Option ID=45538]
3[Option ID=45539]
4[Option ID=45540]

Sl. No.66
QBID:1715048341

Volute type centrifugal pump is generally preferred for :
(1) Large capacity and large head applications

(2) large capacity and low head applications

(3) low capaeity and large head applications

(4) low capacity and low head applications

frafalaa 1 9 frgd [T smuafie UeR & e O & IMad: dieie of ol g 2
(1) eI & 3R 3 7g gy

) IS & HR 9 TS HTHanT

(3) 9 &l SR it Je SFwn

(4) g &mdn SR 9 58 sy

1[Option ID=45541]
2[Option ID=45542]
3[Option ID=45543]
4[Option ID=45544]

Sl. No.67
QBID:1715048342

Mole drainage is generally suitable for :

(1) Sandy soils

(2) Silty soils

(3) Clay soils

(4) Sandy-loam soils

Aid 2gaTg IHEa: e fg Sugad § 2
(1) ST A<l

(2) TMaHY Hal

(3) el fagt

(4) SR gHE 5al

1[Option ID=45545]
2[Option ID=45546]
3[Option ID=45547]
4[Option ID=45548]




SlI. No.68
QBID:1715048343

An Instantaneous unit hydrograph corresponds to the effective rainfall duration of :

(1) Zero hour
(2) 0.10 hour
(3) 0.50 hour
(4) 1.00 hour

U AT TS orak fardt 3rafd @1 wurdi ol & daaa &
(1) I e
(2) 0.10 9e1
(3) 0,50 GeT
(4) 1.00 HeI

1[Option ID=45549]
2[Option ID=45550]
3[Option ID=45551]
4[Option ID=45552]

Sl. No.69
QBID:1715048344

In a square inlet of a box-inlet spillway with on meter side, the crest length will be :
1) Im

(2) 2m

(3) 3m

(4) 4m

T Hiex B Yol a1d UF Sia9-3iaia siftrera & avf sionfa & 4 &6t wfarg gifh:
(1) Im

(2) 2m

(3) 3m

(4) 4m

1[Option ID=45553]

2[Option ID=45554]

3[Option ID=45555]
4[Option ID=45556]

Sl. No.70
QBID:1715048345

The best duration of storm for a unit hydrograph is :

(1) equal to basin lag

(2) 3/4™ of basin lag

(3) ¥ of basin lag

(@) %M of basin lag

U Shl SR & [0 qBH DI 9 Sald &
(1) ZI07 UTg (SR @) & aRIER

(2) gIOf O1E &1 3/4 YA

(3) &IUll UIg &1 % HHT

(@) 2ol 91g &1 1/4 HAT

1[Option ID=45557]
2[Option ID=45558]
3[Option ID=45559]
4[Option ID=45560]

Sl. No.71
QBID:1715048346

The water equivalent of snowfall is considered as :
(1) 5%

(2) 10%

(3) 20%

(4) 30%




fequd & Sd 9d ! [ SU S g1 ol § 2

(1) 5 yiqerd

(2) 10 gfo=ra

(3) 20 Yiad

@) 30 yfaed
1[Option ID=45561]
2[Option ID=45562]

3[Option ID=45563]
4[Option ID=45564]

Sl. No.72
QBID:1715048347

The unit hydrograph for 90 km? catchment arca is triangular in shape with time-basc of 50 hours. The peak runoff of this unit hydrograph

will be :

M) 1m’s
(2 10m’s
(3) 20m?/s
(4) 45 m/s

00 km? & I TGV & & SIS SR B 50 He & THY YR & 1Y AT HHI0T T | 59 318 weg &1 < arg gim:

1) 1m’s

(2 10m’s

(3) 20m’/s

(4) 45 m?/s
1[Option ID=45565]
2[Option ID=45566]

3[Option ID=45567]
4[Option ID=45568]

Sl. No.73
QBID:1715048348

The line joining the points with equal time of travel of surface runoff to the catchment outlet is called :

(1) Isohyet
(2) Isobar
(3) Isochrone
(4) Isomer

gl aT8 & U1 8- 0o 95 & aRIaR YA & fagaf Bl Sl aTclt <@l $I ol Hgl Al § 2

(1) gHaui @1
(2) gHGME @l
(3) gHEGE @l

(4) ATSHHER

1[Option ID=45569]
2[Option ID=45570]
3[Option ID=45571]
4[Option ID=45572]

Sl. No.74
QBID:1715048349
Two strata of an aquifer with thickness Im and 2m have the hydraulic conductivity as 0.01 and 0.50 em/s, respectively. The equivalent

hydraulic conductivity normal to the stratification is:

(1) 0.029 cm/s
(2) 0.337 cm/s
(3) 1.010 cm's
(4) 1.501 cm's

1m 3R 2 mﬁiﬁsﬁaﬁﬂﬁﬁﬂ% {E@Wa?awﬁm 0.01 3R 0.50 em/s ﬁmﬁﬁﬁm% | Al &R fa=amg & ferw
JHqed Sadiad dradal e

(1) 0.029 cm's
(2) 0.337 cm's




(3) 1.010 cm/'s
(4) 1.501 cm's

1[Option ID=45573]
2[Option ID=45574]
3[Option ID=45575]
4[Option ID=45576]

Sl. No.75
QBID:1715048350

Gabion structures for soil conservation are made of :
(1) Wire mesh and soil

(2) Wood and sand

(3) Wire mesh and stones

(4) Stones and cement

T HREU1 & [oTg e TRa-1 gy a- gidl & 2
(1) AR STel 3R 5al

(2) TP AR T

(3) IR el 3R geR

(4) gaR 3R dide

1[Option ID=45581]
2[Option ID=45582]
3[Option ID=45583]
4[Option ID=45584]

Sl. No.76
QBID:1715048351

In hydrologic flood routing through coneeptual linear reservoir. The storage is proportional to :
(1) Outflow only
(2) Inflow only

(3) Outflow and inflow both
(4) The difference between outflow and inflow

YpaHIED AP ST & HIegd 9 Seiid d1g AriieRul I HSRYT fdd SHurdl sidl & 2

(1) %Had dfedls

(2) PHad 3iddig

(3) gfgalg 3R 3idale gHI

(4) sfgalg 3R 3idale & &g IR

1[Option ID=45585]
2[Option ID=45586]
3[Option ID=45587]
4[Option ID=45588]

Sl. No.77
QBID:1715048352

The ability of a soil to get eroded is called its :
(1) Erosivity

(2) Rigidity

(3) Erodibility

(4) Complexity

31 & SUGRA B B & & F1 Bl Al ¢ 2

(1) 3RS (Sforfach
@ T RfSfse

] [l

3) effaaan SRIfsEe

F e S 1

(@) Sfead (@iqadh

£y

1[Option ID=45589]
2[Option ID=45590]
3[Option ID=45591]
4[Option ID=45592]




SI. No.78
QBID:1715048353

Graded bunding 1s generally done in the areas having annual average rainfall :

(1) Less than 40 cm

(2) Less than 50 em

(3) 40to 55 cm

(4) More than 60 cm

yafoTd §e= JHEFId: 34 841 § g orar €, o sia ant &
(1) 40 9. 9 HH

(2) 50 4dL §HH

(3) 409 55 9.

(4) 60 JHI. ¥ D

1[Option ID=45593]
2[Option ID=45594]
3[Option ID=45595]
4[Option ID=45596]

Sl. No.79
QBID:1715048354

If a soil has the coefficients of permeability in two mutually perpendicular direction as K, and K,. the effective permeability is given by:
1 K 7K

2 K{/'K,

3) KK,

(4) (KK,

71 fordlt ga1 & 1 TR e femneil & uRmar & e K, AR K, & =9 H § ol Fafafad & 3 feae gr1 pymd armEd vem
P STt 2

1 K +K,

2 K{/'K,

G KK

@ K Kyl?

1[Option ID=45597]
2[Option ID=45598]
3[Option ID=45599]
4[Option ID=45600]

Sl. No.80
QBID:1715048355

A drainage channel with flow rate of 1 m®/s is draining 360 hectare land. the drainage cocfficient would be :

(1) 1.2em
(2) 1.8 cm
(3) 24cm
(4) 3.6cm

TS 39ATE 97 1 m>/s BT VATE 3R & 1Y 360 SR HfFT T 3uarg= o= 6T © d 39are uiid gim:

(1) 1.2em
(2) 1.8cm
(3) 24cm
(4) 3.6cm
1[Option ID=45601]
2[Option ID=45602]

3[Option ID=45603]
4[Option ID=45604]

Sl. No.81
QBID:1715048356

The area under a hydrograph is equal to
(1) Depth of runoff
(2) Rainfall depth

(3) Volume of runoff




(4) Rainfall intensity

TP AR P Sfaiid &F FafafEa § 3 fogs s g 2
(1) I8 (3131%) B Tg-Idl

2 g P Tl

(3) T8 B HET

(4) aui BI g

1[Option ID=45605]
2[Option ID=45606]
3[Option ID=45607]
4[Option ID=45608]

Sl. No.82
QBID:1715048357

Rainfall intensity at a station can be obtained from :
(1) Non-recording rain gauge

(2) Recording rain gauge

(3) Anemometer

(4) Current meter

TS T R aul & digal FHafiad & 3 f5ad urd of st a@di 8 2
(1) gufard & g5 7 S

() gufadt & o B

(3) ggaTEl

(4) YRt

1[Option ID=45609]
2[Option ID=45610]
3[Option ID=45611]
4[Option ID=45612]

Sl. No.83
QBID:1715048358

Normal rainfall is the average value of rainfall for a period of last :
(1) 50 years
(2) 40 years
(3) 30 years

(4) 10 years

I ot Fafafad § 3 fad sifan safy e g aF et g 2
M 507y

2 4099

@) 30Ty

4 1099

1[Option ID=45613]
2[Option ID=45614]
3[Option ID=45615]
4[Option ID=45616]
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Which of the following electromagnetic waves has the maxinmm frequency :
(1) UV Rays

(2) Gamma Rays

(3) Microwaves

(4) Radio Waves

fFrafifaa § 3 fra fGega-gmaln an & aiftieag smafu gidi g 2
(1) G R0l

() 777y fevof

(3) ger AT




(4) IEar T

1[Option ID=45617]
2[Option ID=45618]
3[Option ID=45619]
4[Option ID=45620]
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In the visible spectrum, which color has the maximum wavelength :
(1) Violet

(2) Blue

(3) Red

(4) Yellow

TR WagH § &1 3 &1 JAfiead a e gidl g 2

(1) gt
(2) e
(3) @@
@) der

1[Option ID=45625]
2[Option ID=45626]
3[Option ID=45627]
4[Option ID=45628]
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The underground formation that neither stores nor transmits water 1s called :

(1) Aquifer

(2) Aquitard

(3) Aquifuge

(4) Aquiclude

I YERTd f-ior &1 a1 a1 I 8, S A1 A O BT WS BRAT ¢ SR A 8] ST R0l BRAT S 2
(1) Sy ()

@ ufders

(3) Sdafoid (W)
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1[Option ID=45629]
2[Option ID=45630]
3[Option ID=45631]
4[Option ID=45632]
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Steady state flow to a fully penetrating well in a confined aquifer is expressed by :
(1) Theis equation

(2) Thiem equation

(3) Cooper-Jacob equation

(4) Chow equation

U URFG Sad J U JUREUU] de U T Faiiid Sa=i1 &1 UaTg 9 gRI SHfiieued o S g 2
() =g gHiER0

(@) s gl

(3) PR-GIPd GHIDH

(4) 913 gH@ER

1[Option ID=45633]
2[Option ID=45634]
3[Option ID=45635]
4[Option ID=45636]
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If the diameter of the well screen in unconfined aquifer is doubled, the water yield will mncrease by about :
(1) 5%

(2) 8%

(3) 11%

(4) 20%

a1 ST Tayd § U BHIH & A8 DI GIHI 1641 911 § df od 3cdd == § Tyl ot afs il 2

(1) 5 Yl
(2) gyl
3 11 9fd9d
@) 20 yfaed

1[Option ID=45637]
2[Option ID=45638]
3[Option ID=45639]
4[Option ID=45640]
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One hectare ficld is to be applied with 3.6 cm irrigation water. How much time will it take to irrigate this field with a channel flow of 20
liters per second?

(1) 3 hours

(2) 4 hours

(3) 5 hours

(4) 6 hours

U B30 & Wd W 3.6 T4, I o e &1 ot ¢ | Uid 968 20 oiex Uond YaTe (=@-d Fah) 9 59 9d o1 ER § o a9a
T 2

(1) 39¢

) 4%¢

(3) 54

4) 69¢

1[Option ID=45641]

2[Option ID=45642]

3[Option ID=45643]
4[Option ID=45644]
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Specific speed of a centrifugal pump is proportional to :
(1) Discharge rate

(2) Square of the discharge rate

(3) Square root of discharge rate

(4) Cube root of discharge rate

U a1 g &1 fafw fd Fafafed 0 § [ue s B gl g 2
M) e

@) fage R BT

3) fque e &1 gy

OREEEEEEIREE

1[Option ID=45645]
2[Option ID=45646]
3[Option ID=45647]
4[Option ID=45648]
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Keeping all other parameters constant, if the radius of influence is doubled. the discharge of a tube well will :

(1) Remain the same
(2) Increase by about 5%




(3) Increase by about 10%

(4) Decrease by about 9%

g Tt o TRIEer 1 UH9HH ¥@d gU WH1G & oI B IH1 B [T offd & d U cdddd ¥ fa¥el- gh:
(1) JEFE I

@ 5 wfad 3t gfg erft

@) 10 vfod $tafS gl

(4) o UicTRId it Sl BIlT

1[Option ID=45649]
2[Option ID=45650]
3[Option ID=45651]
4[Option ID=45652]
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Considering the usual meaning of symbols used here, the uniformity coefficient of gravel packing material is expressed as :
1) dgg/dag

(2) dyp/dgg

(3) dgg/dig

(4) dyg/dgg

Tg1 vgad (U T8 Uil & o1 dR IR o &1 &7 & [ad gU Jad Udbfor It &1 U eHal 7o fog &9 3§ sifiegad faar
SIS 2

(1) dgg/dag

(2) dog/dgg

(3) dgo/dyg

(4) dyp/dgg

1[Option ID=45653]
2[Option ID=45654]
3[Option ID=45655]
4[Option ID=45656]
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Which of the following 1s not a layout for tile drain system :

(1) Herring bone system

(2) Cutoff system

(3) Bedding system

(4) Gridiron system

TIEd AUaTed! wune & foru FafafEa 8 9 sha e e agi g 2
(1) gfaT &1 yome

(2) 3P HUITE! (Be D Ren)

(3) HERUYUITE! (9S8 Ren)

4 Rfse fen

1[Option ID=45657]
2[Option ID=45658]
3[Option ID=45659]
4[Option ID=45660]
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Contour bunds are generally constructed on the land with :
(1) Less than 6% slope
(2) Less than 2% slope
(3) More than 2% slope

(4) More than 6% slope

U= 3@ §Y D1 FHa: Yl W S gy Huir fear o g 2




1) ¢ yiqwrd 9 $9 ga
(2) 2 ylderd 9 4 gaH
(3) 2 ufaerd 9 e gar
(4) 6 yidqerd 9 3ffde gaH

1[Option ID=45661]
2[Option ID=45662]
3[Option ID=45663]
4[Option ID=45664]
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Which of the following is not a type of rotodynamic pump ?

(1) Centrifugal pump

(2) Submersible pump

(3) Reciprocating pump

(4) Propeller pump

frafeiRad # 3 191 AcTsIg-He Ur 31 Udh FhR 76l ¢ ?
(1) TSI U (3Teh il T)

(2) JEARITT U (EE-& 1)

(3) I U (AW )

(4) HIUT YH (e YH])

1[Option ID=45669]
2[Option ID=45670]
3[Option ID=45671]
4[Option ID=45672]
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Given below are two statements :
Statement I : The porosity of a soil mass is the ratio of the volume of voids to the total volume of soil mass.
Statement II : The void ratio of a soil mass is the ratio of volume of solids to the total volume of soil mass.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement II is correct.

= QP e Mg &

HU 1 ; [t JaT & TR B IedI gaT & X & $d G- og Rfdadl & - 7 U ¢ |
HUT 11 : Tl ga1 & o= 1 RfET S0 ga1 & e F T 300 o Yold & 3Maa- &1 AU ¢ |
SWRIS HY & el T, - f3U T fadedi T ¥ 99 I9gead Ik &1 99 SifuIg:

(1) BT AR I G LT S

() FYF1 AR I EHI TEd 8

(3) YIS 8. AT PYT I Tad &
(4) HYF17Id o, Afp- PUT I Tl &

1[Option ID=45673]
2[Option ID=45674]
3[Option ID=45675]
4[Option ID=45676]

Sl. No.97
QBID:1715048372




Given below are two statements :
Statement I : The storativity of a confined aquifer 1s the ratio of the hydraulic conductivity to aquifer thickness.
Statement II : The transmissibility of a confined aquifer is the product of the hydraulie conductivity and aquifer thickness.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

BIECERIEACURIEE
DY : TP URES Aayd &1 HSRU STe1d Si HieTs oq odiy dreddl $I $a1d g |
HYT11 : [P RS T B SR Tt Al SR Sayd @1 Hiers &1 39 ¢ |

SWRIFd By & 3 H, 1< fqu 0 fdseul & T 969 Sugdd 3Tk o1 997 HIfelt:

(1) HYF1 AR SH T8I 8
(2) HYFIHR I SH Tad 8
(3) FYFITE 7. A HYF 1 Tad §
(4) HYF17Td 5, AP U L T61 ©

1[Option ID=45677]
2[Option ID=45678]
3[Option ID=45679]
4[Option ID=45680]
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Given below are two statements :
Statement I : Discharge head of a centrifugal pump is directly proportional to the cube of the pump speed.
Statement II : The power required by the centrifugal pump is directly proportional to the square of the pump speed.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT 1s correct.

BIECERIEACURIEE
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(2) HYF1 R I &HITTEd §

(3) FUITE ¢, AP FY 1 Ted &

(4) TYA A 8, AP B I TE §

1[Option ID=45681]
2[Option ID=45682]
3[Option ID=45683]
4[Option ID=45684]
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Given below are two statements :
Statement I : In a pumped well. the total drawdown includes aquifer or formation loss.
Statement II : In a pumped well. the total drawdown includes well loss.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.
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(3) FYFITE 7. A HYF 1 Tad §
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1[Option ID=45685]
2[Option ID=45686]
3[Option ID=45687]
4[Option ID=45688]
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Match List I with List IT

ListI List IT
A |Depth of irrigation water [ [Rational method
B Discharge versus stage curve fora i e
stream flow =
C. [Unit hydrograph 1. Delta
- [One cm effective
D. [Peak runoff rate V. o infall

Choose the correct answer from the options given below :
(1) A-L B-IL. C-IV. D-III
(2) A-IIL B-II. C-1. D-IV
(3) A-IL B-IL C-IV, D-I
(4) A-IIL B-I, C-IV, D-II
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i fou U fd@egl § U Jol 3T & 99 Siel:
(1) A-L B-IL C-IV, D-III
(2) A-IIL B-IL C-L, D-IV
(3) A-IIL B-IL C-IV. D-I
(4) A-IIL B-I. C-1V, D-II




1[Option ID=45689]
2[Option ID=45690]
3[Option ID=45691]
4[Option ID=45692]




